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PROBLEMAS DE TRIGONOMETRÍA 

Problema 25: 

��2� 1���x �
���� = 3 

Solución Problema 25:  

��2� 1���x �
���� = 3 

Vamos a utilizar la fórmula del ángulo doble de la tangente:  

2���1 − tg2x � 11�
�x �
1���x = 3 

2 ���x�
�x1 − tg2x ��
�x� 1���x = 3 

2���x(1 − tg2x)�
�x ��
�x� 1���x = 3 

2(1 − tg2x) = 3 

2 = 3(1 − tg2x) 
2 = 3 − 3tg2x 
−1 = −3tg2x 
tg�x = 	13 

��� = ±�13 = √33 	 
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� = �����	 √33 = 30º	 
Solución: 30º ó 30º+180º= 210º 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


